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1.1 0O0OO0O00oooon

1.1.1 OJO0O0O0OoObOOoOoOoooog

0000000000 (CNT:Carbon Nano tube 000000000 NT)ODDO
gobobooouoooooouobobooooouoooouoooooon
O00000D00000000D0D0O0 CNTODODOODODOOOODOODODOODOO
O00o0ooobOo0o0O0,00000o0obo0o00o 2000000000000000
g

000000000000 00 (00000 0)00000DO(DUDO0O) 0o
00D00D00D0000000D00000onoono [1)2B]0

OO0000D0O0000D0D0OO0ODOO000O0ODOO000O0 NTODOOO NTODOOOO
NTOOOOUOOOOOOOO0OOO0OO0ONTODODOoDOooooooooo (MWNT:Multi-
Wall Carbon Nanotube) 00 000000000000 0O0DO0ODO0ODOOOOOOO
(SWNT:Single-Wall Carbon Nanotube) 0 0 00O

MWNT O 191 000000000000 00O000DO0DOO00O0O0O00o0OOon
D000 CeUO0O000D0O000000D0DO0DOOD0ODoDoooooooooDg
o000 MWNT OOOODOODODOOODDOODOOOOO0oO0DOoo0oOooooaod
oo oououooobooooon
oo oo ooouoooooon
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Oo0oooOo0oooooooOooOooooOo SWNTOOOODOOOoOooooooo
vbobodoboooboobboboobooobobobobooooboboobooboban
bobooboooobobooobooboboooogon

]

012 O000O0O0OO0OO0OQ SEMO
Nature 363(1993)606 oogno?

0O1.1 DO00ooooog SEM O
Nature 354(1991)323 0000 ¢

10 1.1 = uO0naka/eps/mwent.eps
20 1.2 = uOOnaka/eps/swnt.eps
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3000 La,Y

30 1.3 = u0Onaka/eps/ark2.eps
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0000000 1.400000000000000000000000000 (000
00)000000000000000000000000000000000000
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000000000000 [10]

01400000000000 SWNT
0000000000000 0000 ¢
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smalley 00 0000000000000 00O00OCOOOODOOOOOOOOOO
0% 000000000 SWNTOODODOOOOOoO [13Jjooooo0ooooo
SWNTOODOOOOOOO 200000000000000

. 00o0ooo0o0oooobo0 11,2000 oO0DODO0O00OO0OO
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1. 000 13nmmO000000O0O00OO0ODO

40 1.4 = u00Onaka/eps/junctionl.eps
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0000000000000 0000 ¢

°0 1.5 = uOOnaka/eps/rezar2.eps
50 1.6 = uOOnaka/eps/lope2.eps
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00000000 CeOOO0O00DD0O0000000D0O00000 KrotoO Smally
OO0O000 198 00000000

1.3.1 0O0OO0OO0OOOOO

01.7 CeDO000DO
R.Matsuo 0000 (1999) 0000 7

0 1.70 Ce O x-mol 00000 NMR OOOOO0OO0ODOOOODODOO0O0O00O0O
00000 (56 bond) 000D 1.447A00000000000000 (6-6 bond) O
000 1.40A0000 560000 10000000 single-bond 0 6-6 00000
0000000 double-bond 0000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000 (Order N*)0O0O0000000000000
000 O(N)00000000000000000000000 Cee 0000000
0000000000 [4]0

"0 1.7 = u00Onaka/eps/c60.eps
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01800000000 (T.TakeyaOODDO (1997)0000 [5])
(a)Cr=(5,3),(b)C,=(6,2) OO0 R=2.8A|T| = AN = 104, 0=13.90 *

OO0D000000 @ G,

00000000000 NTODOODOODOODODODODOOoOoDOOoDOooDOo o
00000 (n,m) (0<|m|<n)000000000000O00O0DO0ODOOOOO
0000000000 boooo0 C, 0 000000000 oD0oOn ag,a,00

80 1.8 = u0Onaka/eps/tenkai.eps
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Cy = naj + maz = (n,m) (n,mO00,0 < |m| <n). (1.4.1)

DD:dt

00 C,00000000000000000000000O-0A OO0 OO0
OAD0D0OODOO0OO0OODOO0OO00OO0O000O0O0ODOO0O0DO0O0DO0NOn
000000000000000000000 ¢_.01.42A00000
a=|a;|=|az|=v3a._.=2.46A 00000

000000000

|ICy| = L = VOE? + ED? = a/n? + m? + nm, (1.4.2)

L
Oo00000oo0ooDoooooo &:0de=—0000000
7

ooooo : 46

a; 0 |C,| 000000000 DA0O0OOO

1\/§m

n—l—m'
0gd (0§|m|§n)DDDDDD |(9|§30° ggooogo
og??2??0d, 060 C,0 0000000000

0 = tan~

(1.4.3)

oobooooobooo = T

0O18b)00000O0OO0C,0000D0DOD0D0UODDODOUUDDOOUDODOOOD
BODODODODODOODOODODOODODTOODODOOOBOODDOO TO a;0 a, 000
goooooooo

T:tlal—l—tQaz = (tl,tQ) (DDDtl,tQDDDDD) (144)

o000 +.,t,,0 C,0TODDODODODODODDODODODODODOOCC,-T=000000

gooooooooo

_2m—|—n

f = __2n—|—m

dR 9 2 — dR 9
000 dg00 (2m+n)0 (204+m)0000000000

(1.4.5)
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N =2
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(1.4.6)
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B.W.Smith 0000000 1998 0000000000000000000000
0000000000000000000 SWNT 00 Ce00000000000
000000000000 [7)[8])[9)0
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Chemical Physics Letters316(2000) ) i
Chemical Physics Letters316(2000)
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000 Jelemy Sloan 00 0000000000000 O00ODOOODODOOOOODO

00000000000000000000000000000000000000
0000000 (0 12000)000000000000000000 S.Bandow 00O
0000000000 [14]0

01.11 Ce 0000000000000 SEMO
[14oooo v

°0 1.9 = uOOnaka/eps/swl.eps
100 1.10 = ub0Onaka/eps/sw2.eps
10 1.11 = ud0naka/eps/naihoul.eps
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O00OO0O0D0O0O2000000000000020000000000O0
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2.2 00000000 (Molecular dynamical Method)

gobbbodoobuooobbouooouobbooobooobbuoobbooo
gogbbbodoobuoooboboooobbooobbooobuoooobbuoo
gogbobbbooobooobbooobbbooobobooobuooobbooo
gdd

2.21 000OOOOO

OO00O000 NOODODOODOoDOD »nO0OODOODO v, 00000000 v,000
0000000 F,0000000000 00000

vy = (TpyUny 2n), (1 <n < N), (2.2.1)
godoooooooooooooooan
U=U(ry,rz,13,--,In), (2.2.2)

doodoooovoooooodo r, 0000000
v ou o,
Ox, Oy, 0z,
0000000000000 0oooooooDo0oooOoUrvoooooooooboooo
oodooooooodgo

F,=—( (2.2.3)

dv,(t) F,
= — 224
dt m Y ( )
dr,(t)
= Va, 2.2.

goooooouoooob ooobbbbbbbbooooooo

2.22 [0O0O0OOOOOOOOO

00000000000 At00000000000 Ng, 0000000000
goooooooooooobbobbbn

T = AtNy., (2.2.6)
Vo (T) = v, (T — At) + F”;T)At (2.2.7)
r(T) =rv(T — At) + v, (T)AL (2.2.8)

At0000000000OO0O00DOOO00O0OOODO0ODODOOOOOOOO
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2,23 00OOOOOOO

0(22.7)000000¢(0<e<)000000O0OOODOODOODOOOOO
ggdoooooooooooo
F.(T)

m

v (1) = ev, (T — At) +

At (2.2.9)

e=10000000000000D0O0ODODOODOOOODOOODOODOOO
00000 (0<e< 1) 0D0000O0O0O0DOOOODOOOOOOOOOODOODOOO
gogbobbboobbooobbuooobobobooobboobbuoobbuooo
000000000 At0 00000000 AtOD0O0ODOOOOODODOOOOOO
ggobbooobbbooobboooobboooboooobbuoobbuooo
0000000 0000000000000 00 30[fs) 000000000000
0000000000 At=25]fs]00000000000000O00O00OOOOO
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0000000000000 D000”’0000000000000D0000ODO0O0O0O
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O000000ObO00o0obbooobbo0obOboooobbooobooo 2,000
O000000b0o0ob0o0ooboob0o0obooooDooobooboobO 2000
(500[fs) 0000000000000 DOO0O0ODO0O0OO0ODOOOOUOOUOOUOO
2000000000000

-5797.0

-5798.0

-5799.0

Energy (ev)

-5800.0

-5801.0 : - -
0.0 50.0 100.0 150.0 200.0

times

02.12(10,10)00000000000000000DOOODOOODOOOO !

10 2.12 = u00naka/eps/1010eng.eps
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23 00O0O0ODDODDOOODOOOOOd
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0000000000000 (0D A)OOOOUOOO0OO wireOODOD (DO
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godooooooooooooooooodn
a.out
DDDDDDDDDDDDDDDDDDDDDDD(tube.xyz)l:]l:]l:]l]l]l]l](DDD
gooooooooodn ADDDD)DDDDDDDDDDDDDDD(D:kekka.xyz)
gooooodn
% a.out tube.xyz > kekka.xyz
oottt ouooouououoouoouoouoooo

O00000000000000D0000000000 B.1O B3 0ODOOOOO PA-
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24 CqO000D0D0O000O

0 1:00000000000000000

000000000 [eV]

Ch 2N\ B8 o] 0 000000 |CeOO00000
(12,2) | 748 0.513 — — — —
(10,5) | 1040 0.517 — — — —
(11,4) | 724 0.527 | -1.2x10% | -8.7x10%| -5235.7893 -5521.9406
(13,1) | 792 0.530 | -8.6x10' | -6.8x10* | -5301.1831 5618.5516
(12,3) | 900 0.538 | -8.5x10' | -7.7x10* | -6089.7615 -6408.1745
(9,7) 832 0.544 | -3.6x1071 | -3.0x102 | -5595.5523 -5999.3609
(14,1) | 904 0.569 | 261071 | -2.4x10? | -6113.5482 -6517.3629
(9.8) 928 0.577 | -3.0x107% | -2.8x107 |  -6360.7947 -6704.6110
(10,7) | 936 0.579 | -3.0x10~* | -2.8x107 |  -6360.0619 -6763.8782
(15,1) | 1024 0.608 | -2.4x1072 | -25x10' |  -6996.3288 -7400.1431
(9,9) 780 0.610 | -6.2x107* | -4.8x107 | -5215.5141 5619.3301
(11,7) | 1048 0.615 | -2.2x107* | -2.3x107 | -7178.8718 -7582.6883
(15,2) | 1096 0.630 | 6.0x107% | 6.6x1072 | -7524.1282 7927.9448
(10,9) | 1144 0.644 | -1.5x107% | -1.7x1075 |  -7888.8742 -8292.6908
(11,8) | 1152 0.647 | 6.0x107° | 6.9x1075 | -7948.1378 -8351.9544
(12,7) | 1168 0.651 | -7.6x10°% | -8.9x107% |  -8061.6762 -8465.4929
(10,10) | 860 0.678 | 1.9x107% | 1.6x107% |  -5800.4069 -6204.2236
(12,9) | 1392 0.714 | 1.1x10™° | 1.5x107% | -9703.9321 -10107.7488
(18,2) | 788 0.747 | 9.2x107° | 7.2x1075 |  -5244.9578 -5648.7744
(184) | 884 0.795 | 5.3x107° | 4.7x1075 |  -5945.5268 -6349.3435
(202) | 1244 0.825 | 1.4x10% | 1.7x1075 | -8602.0991 -9005.9157
(18,6) | 996 0.847 | -1.4x107% | -1.4x107% |  -6764.3625 71681791
(14,12) | 1076 0.882 | 1.7x107° | 1.8x107% |  -7365.8599 -7769.6766

Ceo 00O : 0O 0.36 [nm]
CeoDO0D00000D0 : -403.8166[eV]
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0213000 10000000000 (000000 0O0ODO0OO0ODO0ODOOO
02NO0O00000)00000000000000O00D0000DOUDOOOOO (
O00000 +00Ce )0000000000000O0O0O0O0O0O0O0O0O (Ce OO
0000 )0000000000000o00o0O

Energy (eV/atm)
~
iSS

star : tube+C_60

16 [ circle: tube

7gL0 ‘ ‘ ‘
0.50 0.60 0.70 0.80 0.90

tube radius (nm)

021300 10000000000000000 2

0000000 CeeUDDOUODODODO0ODODOODOODODOODOODOODOODOODOD
00000000 CeeODO0OD0OD0OD00D0O0000OD000O00ooooonDooon
OO0 AEODDOOO0OODOOODO

(n,n)tube4+Cgp — Coo@(n,n)-AE

O0A E0D0DOOCO0DOODODOOOODO CeeOOOODODODOoDOoDooon
ggobbbooobuooobbobouoobbobooobooobbbbooobuoo
000 2140 AEOOOOODOOODOO

20 2.13 = uO0Onaka/eps/c60engh.eps
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10°

(15,2)

107 F E

&

dif-Energy (eV)
i
o

X

[y
(=)
I

(10,10)
(20,2)
o (18,2)

10° } o o E
(o] (12,9) e}
(11.8) (18,4)
o
10'9 L L
0.60 0.70 0.80

tube radius (nm)

0214 Ceo OO0 SWNTODOODODODOOOOOODOO ®

0213000000000000 0.526 [nm] 00 0.538 [om] 00000000
0o0O (11,4),(13,1),(12,3) 00000000000000000000000000
0000000 CeD000000000 0.158 [nm] 00 0.178 [nm] 0000000
02140000000 0.63 [nm] O (152)00000 Ce@(15,2) O (15,2)tube +
(oo 00000000000 000000D0DOD Ce 0000000000000
00000000000000000000000000000000000000
000000 (152)00000 Cg 000000000000000 0.270 [nm] O
00000000000000Ce 0000000000000000000000
0000000000000 0000000000000000000000 Cg O
000000000000000000000000000000

0000000000 0.526 [ nm000000000 (114) 0000000000
00 Ce 0000000000000 000000000000000000000
0ooo (0 2.15)0

30 2.14 = uOOnaka/eps/c60engl0.eps
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0 2.15 Ce@(10,5) 0000 ¢

O0000 SWNTO xmol DO0DO0OOOO

40 2.15 = uOOnaka/eps/tubel05.eps

20
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241 GCg OO SWNT

00000000 Ce 00 SWNT O xmol 0000000000
t0ooooooo f
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270 2.38 = ul00naka/eps/1412.eps
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2.39 = uOOnaka/eps/k114.eps
2.40 = u0Onaka/eps/k131.eps
2.41 = u00Onaka/eps/k123.eps
2.42 = u00naka/eps/k97.eps
2.43 = u00Onaka/eps/k141.eps
2.44 = u00Onaka/eps/k98.eps
2.45 = u00naka/eps/k107.eps
2.46 = u0Onaka/eps/k151.eps
2.47 = u00Onaka/eps/k117.eps
2.48 = uOOnaka/eps/k152.eps
2.49 = u00Onaka/eps/k109.eps
2.50 = u0Onaka/eps/k118.eps
2.51 = u0Onaka/eps/k127.eps
2.52 = u0Onaka/eps/k1010.eps
2.53 = u0Onaka/eps/k129.eps
2.54 = u00Onaka/eps/k182.eps
2.55 = u0Onaka/eps/k184.eps
2.56 = u0Onaka/eps/k202.eps
2.57 = u00Onaka/eps/k186.eps
2.58 = uOOnaka/eps/k1412.eps
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' INkg 3Nkp

(3.1.4)

0000007T000000000000000 »0 0000000 (v; — o)
goddduotb o«

T 3NkgT
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3N
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U cdooooooobbbbbbboooooooooooouooooon
00000000000 0DO0 BOODOOODOO

0oog
0000000 | kg [J/K] | 1.38 x107*°
ooooo m [kg] | 1.99 x 10726
ks 2.08x1077

00000000 (00)f

c UoOoogg
c
c
Vv2 = 0.0
Vv21 = 0.0
DO J = 180*B+1 , Nx*3

VV2 = VV2 + VELO(J)*%2
END DO

DO J =1 , 180x*B



s b0bbboboooooogo 27

VV21 = VV21 + VELO(J)**2
END DO

WRITE(Ck,*) N’ N
cVW2O0UOO0OO0O (DOODODOODoDoOOoOoOooOoOO

WRITE(*,*)’VV2’ ,VV2

ALPHA=SQRT (3*N*Kb*T/m*VV2)

¢]

=SQRT (3*N+*1.38D-23*T/1.99D-26%VV2)

¢]

=SQRT(2.08D3*N*T/VV2)

¢]

c m/s 0 A/fs OD0OO0ODOOOO 10D-10 OOODO

ALPHA = SQRT(2.08D-7+*REAL(N)*H/VV2)
c H = temperature(00 00000 O0O)

DO J =1, Nx3

VELO(J) = ALPHA*VELO(J)

END DO

c ALPHAOOODOO
WRITE(*,*)’ALPHA’ ,ALPHA

TEMP1 0.48D7*VV2*ALPHA1/REAL (N-60%B)
0.48D7*VV21*ALPHA2/REAL (60%B)

WRITE(*,*)’TEMP=" TEMP1,TEMP2

TEMP2

3.2 0J0O0O0ODOOOO

0000000000000 000000D0000 wireD0O0OODO(OODOOODO
00)0000000000000O0DO0DO0OO0ODOOOOO
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°0 3.67 = uO0naka/eps/1010-2500.eps
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160 3.74 = u0Onaka/eps/974k-xvgr.eps
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DO 38 J =1 , MAX_ATOM3
DIFF2(0,J) = 0
DD(J) = 0.0DO
38 CONTINUE

CALL CALC_DIFF2(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
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CALL CALC_DIFF2_VDW
# (N,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

CALL CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)

C DO 39 J =1 , N*3

C VELO(J) = VELO(J) + DIFF1(J) * CONV_VELO
C ZAHYO(J) = ZAHYO(J) + VELO(J)

C VELO(J) = VELO(J) * 0.9DO

C

C

39 CONTINUE

goooooooo
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PROGRAH HD
INCLUDE ’PARAHETER’

C 00000 FILEDODO
CHARACTER*50 FILENAHE
CHARACTER*50 FILENAHE2

c oooooooo
INTEGER N

C loop OOO
INTEGER I,J,K

c ooooo &)
REAL*8 H,G

REAL#*8 TENP1
REAL*8 TEHP2

c 000000 (steps)
INTEGER 4,B,H
C ALPHAD vv20 00 wv2(2) 1: C60 2: nanotube

REAL*8 ALPHA1,ALPHA2
DIHENSION VV2(2)
REAL*8 VV2

REAL*8 SQRT

C ooooao
REAL*8 ZAHYO(HMAX_ATOH3)
CHARACTER*8 AN(MAX_ATOH)

C ooooooo
REAL*8 LIST(O:HAX_LIST_N2,HAX_ATOH)

C 0020000000
REAL*8 LIST2(0:HAX_LIST2_N,HAX_ATOHN)

C ooooooo
REAL*8 LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

C 0000000 IXx00000o0o0oooo
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
REAL*8 VELO(HAX_ATOH3)
REAL*8 DD(HAX_ATOHN3)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)

C TERSOFF 0000
REAL*8 TERSOFF

C ooooooo
REAL*8 ENERGY , ENERGY_VDW
INTEGER IDX

< itest = 1 debug
itest = 0
4 FILEOOOOODO

CALL GETFILENAHE(FILENAHE)
open(STATUS="0LD’,unit=20,file="tempmd.log’)
write(20,25) FILENAHE

25 format(ab0)

C Yzopoooooo
CALL READ_ZAHYO(FILENAME, N, I,ZAHYO,AN)
write(*,*)’I = I
DO 29 J =1 , HAX_ATOH3
VELO(J) = 0.0DO

29 CONTINUE
IDX =0
CALL MAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
CALL MAKE_LIST2(N,LIST,LIST2)

CALL MAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,IDX,LIST,
#LIST2, AN)

ENERGY = TERSOFF(N,ZAHYO,LIST,KYORI,CUTOFF)

ENERGY_VDW = VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
ENERGY = ENERGY + ENERGY_VDW

WRITE(x,x)> 0000007 &=
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READ(*,*) A

WRITE(x,*) >TEHPARATURE of C_80 (Real)? H(K)=’
READ(*,*) H

WRITE(*,*) >TEHPARATURE of NANO (Real)? G(K)=’
READ(*,*) G

WRITE(*, %) N%3’ N3

WRITE(x,*)’C_60 O OO0ODOO B= 7?

READ(*,*) B

WRITE(x )’ 000000000 H= 72

READ(*,*) H

K=0
DO 41 I =1, 4

write(*,%)°I=7,1
C poooooooo
IDX = 0
CALL MAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)

C oooooooooa
CALL MAKE_LIST2(N,LIST,LIST2)

4 WRITE(*,*) IDX
c WRITE(*,*) ’make_list_vdw’
CALL MAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,bIDX,LIST,
#LIST2, AN)
4 WRITE(*,*) IDX
c WRITE(#,%) ’make_newkyori’

CALL HAKE_NEWKYORI(N,ZAHYO,LIST,KYORI,CUTOFF)

c WRITE(#,%) ’make_newkyoriv’
CALL HAKE_NEWKYORIV(N,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

c WRITE(*,*) ’calc_diff’
CALL CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)

c WRITE(*,*) ’calc_diff_vdw’
CALL CALC_DIFF1_VYDW(N,ZAHYO,LIST_YDW,KYORI,CUTOFF,DIFF1)

¢ 00000

c DO 38 J = 1 , HAX_ATOH3

c DIFF2(0,J) =0

c DD(J) = 0.0DO

¢ 38 CONTINUE

c CALL CALC_DIFF2(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
c CALL CALC_DIFF2_VDW

C # (N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

c CALL CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)

¢ 000000
DO 39 J =1 , N*3
VELO(J) = VELO(J) + DIFF1(J) * CONV_VELO
ZAHYO(J) = ZAHYO(J) + VELO(J)

39 CONTINUE

cce

¢ 0O0O0Oa0

cce

¢

¢_60 0 nanotube 00000 D0O0O0O0DODOOODODOO
0000 0000 0000 eo00000 ¢_60

JJ=1 C60, JJ=2 NANOTUBE

c_60

<
<
<
<
<
¢ 000nNO000DO0O000DOOO0O0ODOOO0O0 IF 00000
< IF 00 HOD O0O0O0ODDOO0

<

IF (HOD(I,H).EQ.0) THEN

JJ=1

NNC80=60%B

NNC603=NNC60%*3

vv2(JJ) = 0.0

DO J =1 , NNC603

Vv2(JJ) = ¥¥2(JJ) + VELO(J)*%2
END DO

WRITE(*,%)’°VY¥2 OF C60 = ’,VV2(J])

ALPHA1 = SQRT(2.08D-T*REAL (NNC60)*H/VV2(J]))
C --- 0000000 alpha OO0OOOOO0DOO ---

C 0000 coe0 DOOOOODO
C
DO J =1 , NNC603
VELO(J) = ALPHA1*VELO(J)
END DO
C

¢ 00O nanotube
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aQ

m/s

JJ=2

vv2(JJ)=0.0

DO J = NNC603+1 , N3

Vv2(JJ) = ¥¥2(JJ) + VELO(J)*%2
END DO

WRITE(*,*)’VV¥2 of nanotube = ’,V¥2(JJ)
ALPHA2 = SQRT(2.08D-7*REAL (N-NNC60) *G/VV2(JJ))

--- nanotube 0O OO0 alpha 0O0DOO00O -—-

DO J = NNC603+1 , N3
VELO(J) = ALPHA2*VELO(J)
END DO

ALPHA=SQRT (3*N*Kb*T/m*VV2)
=SQRT(3*Nx1.38D-23*T/1.99D-26%VV2)

=SQRT(2.08D3*N*T/VV2)

ALPHAOODOODO
WRITE(*,#%)’alphal,2’,alphal,alpha2

0 a/fs O0O0ODODODOO 10D-10 OOOO

TEHP1 = 0.48D7#VV2(1)*ALPHA1/REAL(NNC60)
TEHP2 = 0.48D7#VV2(2)*ALPHA2/REAL (N-NNC60)

WRITE(x,*)’TEHP1,2 =’ ,TEHP1,TEHP2

ELSE
END IF

¢ 00000000 (.log)

40

41

OPEN(STATUS="UNKNOWN’ ,UNIT=30,FILE=

write(30,x) TEHP1

OPEN(STATUS="UNKNOWN’ ,UNIT=31,FILE=

write(31,x) TEHP2

OPEN(STATUS="UNKNOWN’ ,UNIT=32,FILE=

write(32,%)alphat

OPEN(STATUS="UNKNOWN’ ,UNIT=33 ,FILE=

write(33,%)alpha2

OPEN(STATUS="UNKNOWN’ ,UNIT=34 ,FILE=

write(34,%)Vv2(1)

OPEN(STATUS="UNKNOWN’ ,UNIT=35,FILE=

write (35,%)VV2(2)

’tempC_60.1l0g")
’temp_NANO.log?)
’alphaC_60.1lo0g?)
’alpha_NANO.log’)
’V¥2C_60.10g”)

’VY2_NANO.log”)

ENERGY = TERSOFF(N,ZAHYO,LIST,KYORI,CUTOFF)
ENERGY_VDW = VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)

ENERGY = ENERGY + ENERGY_VDW
WRITE(20,40) I , ENERGY

format (i6,£20.7)

CALL PRINT_ZAHYO(N,J,ZAHYO,I,ENERGY,DIFF1,4N)

CONTINUE

¢ 000oo0oooOoOoooooao

4

WRITE(*,*)’TEHP=",T
close(20)

STOP
END

¢ This program is for md to run on Dec Fortran

c
cC
C

cC
101

110

121

000000 FILE OODOOODO OoOO0O0o0O0

SUBROUTINE GETFILENAHE(FILENAHE)
CHARACTER*50 FILENAHE

INTEGER I

I = IARGCO)

IF (I .NE. 1) then

WRITE(*,*) ’Usage: opt hoge.xyz’

GOTO 110
ENDIF

CALL GETARG(1,FILENAHE)

RETURN
STOP
END

SUBROUTINE GETARGU(LINE,I,ARGU)
CHARACTER*80 LINE

CHARACTER*80 DUHN

CHARACTER*80 ARGU

INTEGER I

46
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INTEGER J
INTEGER K
INTEGER lenline

DUH = LINE

do 128 K =1 , I
lenline = len(DUHN)
DO 122 J = 1 , lenline

IF ( DUH(J:J) .EQ. *> ’) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 122

ENDIF

GOTO 123

122 CONTINUE

123 DUH = DUH(J:lenline)

lenline = len(DUHN)
DO 124 J = 2 , lenline
IF ( DUH(J:J) .EQ. > ’) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 125
ENDIF
124 CONTINUE
125 ARGU = DUM(1:J-1)

DUH=DUH (J:1lenline)
128 continue
RETURN

¢ 129 STOP
END

130 REAL*8 FUNCTION ATOR(STR)
CHARACTER*80 STR
INTEGER
INTEGER
INTEGER
INTEGER
INTEGER DCU
INTEGER*4 R
INTEGER*4 E

owmaH

I=1
S =1
R=0
EC =0
E=0

IF ( STR(1:1) .EQ. ’+’) THEN

S =1
I=1+1
ENDIF
IF ( STR(1:1) .EQ. ’-’) THEN
S =-1
I=1+1
ENDIF

DO 140 J = I , 80
IF ( STR(J:J) .EQ. ’>.’ ) THEN
EC =1
GOTO 140
ENDIF

D = ICHAR(STR(J:J)) - ICHAR(’0’)

IF ( (D .GT. 9) .OR. (D .LT. 0)) THEN
GOTO 145

ENDIF

R=R x 10 + D

E=E + EC

IF ( R .GT. 9999999 ) THEN
GOTO 145
ENDIF
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140

145

c 149

cC

cC

201

208
209

210

299

cc

cc

301

CONTINUE

ATOR = 1.0D0 % S * R / (10

RETURN

STOP
END

000000000 Dooooo

.ODO**E)

SUBROUTINE READ_ZAHYO(FILENAME, N, I,ZAHYO,AN)

INCLUDE ’PARAHETER’
CHARACTER*50 FILENAHE
oooooooooa
INTEGER N

INTEGER N3

FILE I0 0DDOO0OO0OD
INTEGER IOCHECK

loop variable
INTEGER I

oooooooooa
REAL*8 ZAHYO(HAX_ATOH3)

oooooo
CHARACTER*8 AN(MAX_ATOH)

CHARACTER*80 LINE,ARGU

FILE OPEN

OPEN (60 ,FILE=FILENAHE,STATUS="0LD’,I0STAT=IOCHECK)

FILE OPEN 0 00OO0OO0ODO
IF ( IOCHECK ) THEN

WRITE(*,%) ’File open error.’
GOTO 299

ENDIF

pooooooooo

READ(60,*) N

IF ( HAX_ATOH .LT. N ) THEN
WRITE(*,%) "Too many atoms."

GOTO 299
ENDIF

N3 =N %3

READ(60,209) LINE
format(£14.8)
format (a80)

000000 oooo

DO 210 I =1, N3 , 3
READ(60,209) LINE
CALL GETARGU(LINE,1,ARGU)
AN(I/3+1)=ARGU
CALL GETARGU(LINE,2,ARGU)
ZAHYO(I) = ATOR(ARGU)
CALL GETARGU(LINE,3,ARGU)
ZAHYO(I+1) = ATOR(ARGU)
CALL GETARGU(LINE,4,ARGU)
ZAHYO(I+2) = ATOR(ARGU)

00O000oo0O0O0O0OD0O0OO0OO0OO0OD
itest=0
if(itest.eq.1) then

WRITE(*,%)°X,Y,Z=",ZAHYO(I) ,ZAHYO(I+1),ZAHYO(I+3)

ondif
READ(60,%) AN(I/3+1) ,
CONTINUE

CLOSE(60,STATUS="KEEP’)
RETURN

CLOSE(60,STATUS="KEEP’)
STOP
END

oooooooooo e

ZAHYO(I)

,ZAHYO(I+1)

, ZAHYO (I+2)

SUBROUTINE PRINT_ZAHYO(N,J,ZAHYO,T,ENERGY,DIFF1,4iN)
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INCLUDE ’PARAHETER’
INTEGER N,J,N3

REAL*8 TEHP

REAL*8 ZAHYO(HAX_ATOH3)
CHARACTER*8 AN(MAX_ATOH)
REAL*8 DIFF1 (HAX_ATOH3)
REAL*8 ENERGY

INTEGER I

¢ 00000000000 (result.xyz)

¢ result.xyz0 0000000000000 00D0000O0O000O0DOOOOOOOO
OPEN(1,STATUS=’0LD’ ,FILE="result.xyz’)
WRITE(1,%) N

C WRITE(1,*) ’TIHE=’,T*TIHE_DIV#*1.0D15,’fs ENERGY =’ ,ENERGY

c WRITE(1,%)’fs ENERGY =’,ENERGY,’TEHMP(K)=’, TEHP

WRITE(1,304) ’fs ENERGY (eV)=’,ENERGY

DO 311 I =1 , N3 , 3
WRITE(1,305) AN(I/3+1) , ZAHYO(I) , ZAHYO(I+1) , ZAHYO(I+2)

# , DIFF1(I) *10.0 , DIFF1(I+1) * 10.0 , DIFF1(I+2) * 10.0
304 FORHAT(a20,£15.2)
305 FORHAT(a5,f15.7,£15.7 ,£15.7,£15.7,£15.7,£15.7)

311 CONTINUE

oooooooooag 2

302 SUBROUTINE PRINT_ZAHYO2(N,ZAHYO,T,ENERGY,DIFF1,AN)
INCLUDE ’PARAHETER’
INTEGER N,N3
INTEGER T
REAL*8 ZAHYO(HAX_ATOH3)
CHARACTER*8 AN(MAX_ATOH)
REAL*8 DIFF1(HAX_ATOH3)
REAL*8 ENERGY
INTEGER I

00000000000 (resultl.xyz)
OPEN(STATUS=’0LD’ ,UNIT=N,FILE="resultl.xyz’)
WRITE(N,*) N
WRITE(N,*) ’TIHE=’,T*TIHE_DIV*1.0D15,’fs ENERGY =’ ,ENERGY
WRITE(N,*) ’fs ENERGY =’,ENERGY,’TEHP(K)=’,T

Q0000000000000 00000a0

N3 =N %3

DO 312 I =1 , N3 , 3
WRITE(N,306) AN(I/3+1) , ZAHYO(I) , ZAHYO(I+1) , ZAHYO(I+2)
# , DIFF1(I) *10.0 , DIFF1(I+1) * 10.0 , DIFF1(I+2) * 10.0

306 FORHAT(a5,£12.7,£12.7,£12.7,£12.7,£12.7,£12.7)
312 CONTINUE

398 RETURN
¢ 399 STOP
END
cC
C 000000 LIST 00000000000
cC
C
C LIST(O,N) : DOO0O N DOOOOOO
C LIST(I,N) : DOOO0OND I 0000000000000
C LIST(I+HAX_LIST_N ,N) : OOOON O I DDOOO0O0OOOO

401 SUBROUTINE HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
INCLUDE ’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HMAX_ATOH3)

INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER IDX

REAL*8 HAX_X HAX_Y,HAX_Z
REAL*8 HIN_X HIN_Y,HIN_Z

INTEGER I,K,
INTEGER E,F,G
INTEGER L,H

INTEGER I3

49
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4

INTEGER HESH_X ,HESH_Y,HESH_Z
INTEGER TX,TY,TZ
INTEGER TI,TJ,TI3,TJ3

INTEGER HESH(O:MAX_HESH_ATOH,
0:MAX_HESH_X+1,0:HAX_MESH_Y+1,0:HAX_MESH_Z+1)

REAL*8 THP_R,THP_CUTOFF

REAL#8 SIN

N3 =N

* 3

ooooooooao
DO 405 I = 1 , HAX_ATOH

LIST(0,I) = 0
CONTINUE

405

HESH 000000
DO 406 I = 0 , HAX_HESH_X+1
DO 406 J = 0

DO 406 K

, HAX_HESH_Y+1

0 , HAX_HESH_Z+1

HESH(0,I,J,K) = 0

406 CONTINUE

00000000 -00000000

HAX_X
HAX_Y
HAX_Z
HIN_X
HIN_Y
HIN_Z

ZAHYO (1)
ZAHYO(2)
ZAHYO(3)
ZAHYO (1)
ZAHYO(2)
ZAHYO(3)

DO 410 I = 4 , N3 , 3
IF ( HAX_X .LT. ZAHYO(I) ) THEN
HAX_X = ZAHYO(I)
ENDIF
IF ( HAX_Y .LT. ZAHYO(I+1) ) THEN
HAX_Y = ZAHYO(I+1)
ENDIF
IF ( HAX_Z .LT. ZAHYO(I+2) ) THEN
HAX_Z = ZAHYO(I+2)
ENDIF
IF ( HIN_X .GT. ZAHYO(I) ) THEN
HIN_X = ZAHYO(I)
ENDIF
IF ( HIN_Y .GT. ZAHYO(I+1) ) THEN
IN_Y = ZAHYO(I+1)
ENDIF
IF ( HIN_Z .GT. ZAHYO(I+2) ) THEN
IN_Z = ZAHYO(I+2)
ENDIF
410 CONTINUE
00Do0oo0oooOoOoooooao
WRITE(*, %) HAX_’ ,HAX_X,HAX_Y,HAX_Z
WRITE(*, %) HIN_’ ,HIN_X,HIN_Y,HIN_Z

i

i

WRITE(*,%) °> D_.’, REAL(HESH_D)
C 00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
C 0000O00o0O0000OOO0O0O0O00OO0O0O0
HESH_X = 1 + ( ( HAX_X - HIN_X ) / REAL(HESH_D) )
HESH_Y = 1 + ( ( HAX_Y - HIN_Y ) / REAL(HESH_D) )
HESH_Z = 1 + ( ( HAX_Z - HIN_Z ) / REAL(HESH_D) )
C HESH 0000 00000000 sTOP
IF ( HESH_X .LE. HAX_HESH_X ) THEN
GOTO 415
ENDIF
IF ( HESH_Y .LE. HAX_HESH_Y ) THEN
GOTO 415
ENDIF
IF ( HESH_Z .LE. HAX_HESH_Z ) THEN
GOTO 415
ENDIF
WRITE(*,%) °HESH is overflow: MAX_HESH.’, HESH_X,HESH_Y,HESH_Z
WRITE(*,%) °*HESH is overflow: HAX_.’, HAX_X MAX_Y,HAX_Z
WRITE(*,%) °*HESH is overflow: MIN_.’, HIN_X,HIN_Y,HIN_Z
STOP
C 000000 HESH O DOOO0O00OOOO0

415 DO 420 I =1 , N

I3 =

TX
TY
TZ

I
1
1
1

N

ZAHYO(I3) - MIN_X ) / HESH_D )
ZAHYO(I3+1) - HIN_Y ) / HESH_D )
ZAHYO(I3+2) - MIN_Z ) / MESH_D )

30
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C

aQ

aQ

aQ

420

#
#
#

#

#

HESH 000000000 STOP
IF ( HESH(O,TX,TY,TZ) .EQ. HAX_MESH_ATOM ) THEN
WRITE(*,%) ’HESH_ATOM is overflow: HAX_HESH_ATOH.’
STOP
ENDIF

HESH(O,TX,TY,TZ) = HESH(O,TX,TY,TZ) + 1
HESH( MESH(O,TX,TY,TZ) , TX,TY,TZ) =1

CONTINUE

HESH 000000 000 (27 0D00OO)
0 000000 O0LIsST 00000
0000 DOOoOoOoooOOoOoooooa

DO 443 I = 1 , HESH_X
DO 442 J = 1 , HESH_Y
DO 441 XK = 1 , HESH_Z

IF ( HESH(0,I,J,K) .EQ. 0 ) THEN
GOTO 441
ENDIF

D0 433 E=1I-1 ,I+1
DO 432 F=1J-1, J+1
DO 431 G=K -1 , K+ 1

IF ( HESH(O,E,F,G) .EQ. 0 ) THEN
GOTO 431
ENDIF

DO 425 L = 1 , HESH(0,I,J,K)
DO 424 H = 1 , HESH(0,E,F,G)

TI = HESH(L,I,J.K)
TJ = HESH(H,E,F,G)

IF ( TI .LE. TJ ) THEN
GOTO 424
ENDIF

TI3 = TIx3-2
TJ3 = TJx3-2

oooooooo
THP_R =
( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*%2 +

( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +

( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0
000000000 Dooooo
IF ( THP_R .GT. (PRH_CR + PRH_CD) ) THEN

GOTO 424

ENDIF
LIST 000000000 sToP

IF ( ( LIST(0,TI) .EQ. HAX_LIST_N ) .OR.

( LIST(0,TJ) .EQ. MAX_LIST_N ) ) THEN
WRITE(x,*) °LIST_N is overflow: MAX_LIST_N.’
STOP

ENDIF

IDX = IDX + 1
KYORI(IDX) = THP_R

LIST(0,TI) = LIST(O,TI) + 1
LIST( LIST(0,TI) ,TI ) = IDX
LIST( LIST(0,TI) + MAX_LIST_N ,TI ) = TJ

LIST(0,TJ) = LIST(0,TJ) + 1
LIST( LIST(0,TJ) ,TJ ) = IDX
LIST( LIST(0,TJ) + HMAX_LIST_N ,TJ ) = TI

oooooooooa

THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
( 1.0D0 - SINC PI * ( THP_R - PRM_CR ) / (2.0DO * PRH_CD ) )
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0O
ENDIF

CUTOFF (IDX) = THP_CUTOFF

51
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424 CONTINUE
425 CONTINUE

431 CONTINUE
432 CONTINUE
433 CONTINUE

441 CONTINUE
442 CONTINUE
443 CONTINUE

C DO 452 I =1 , N
4 write (¥,%) '--",1I
C DO 451 J =1 , LIST(0,I)
C WRITE(*,*) LIST(J + HAX_LIST_N , I)
C 451 CONTINUE
C 452 CONTINUE
469 RETURN
¢ 499 STOP
END
C
C i 000000 Tersoff DOOOODO
C

501 REAL#*8 FUNCTION TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HMAX_ATOH3)

INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,K,L,H
INTEGER I3,J3,K3
INTEGER IDXJ,IDXK

REAL*8 G,GCOS
REAL*8 ZETA

REAL*8 I
REAL*8 J
REAL*8 K
REAL*8 B

_X,IY, I
R PR SR I
_XK_Y,K_

NN N

REAL*8 EXP
REAL*8 THP

3 =1I%3 - 2

X = ZAHYO(I3)
_Y = ZAHYO(I3+1)
_Z = ZAHYO(I3+2)

THP = 0.0D0O

DO 520 L = 1 , LIST(0,I)
IDXJ = LIST(L,I)
J = LIST(L+HAX_LIST_N,I)
J3 = Jx3 - 2
J_X = ZAHYO(I3)
J_Y = ZAHYO(J3+1)
J_Z = ZAHYO(J3+2)
ZETA = 0.0DO

DO 510 H = 1 , LIST(0,I)
IF ( L .EQ. H ) THEN
GOTO 510
ENDIF

DXK = LIST(H,I)

= LIST(H+HAX_LIST_N,I)
3 = K%3 - 2
= ZAHYO(K3)
ZAHYO(K3+1)

I
K
K
K
K
K = ZAHYO(K3+2)

N e
1

GCOS

R oW oW W

IF ( KYORI(IDXK) .EQ. 0.0DO ) THEN
WRITE(*,*) KYORI(CIDXK) ,I,J.K
ENDIF
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G = ( PRH_C * PRH_C ) / ( PRH_D % PRHD ) -
# ( PRH_C * PRH_C ) /
# ( PRH_D * PRH_D + ( PRH_H - GCOS ) * (PRH_H - GCOS ))

G =PRH_A x ( G+ 1.0D0 )
ZETA = ZETA + CUTOFF (IDXK) * G

510 CONTINUE
Bij = ( 1.0 + ( ZETA )*x( PRH_ETA) )**( -PRH_DELTA )

THP = THP +
CUTOFF (IDXJ) *
(
PRH_EA # EXP( -PRH_LUMBDA1 * KYORI(IDXJ) ) +
(PRH_EB) #* Bij x EXP( -PRH_LUMBDA2 % KYORI(IDXJ))
)

R oW oW W

520 CONTINUE
TERSOFF_I = THP

RETURN
¢ 599 STOP
END

601 REAL*8 FUNCTION TERSOFF (N,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I
INTEGER N
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 TERSOFF_I

TERSOFF = 0.0D0O

D0610 I =1 , N
TERSOFF = TERSOFF +
# TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

610 CONTINUE
TERSOFF = TERSOFF / 2.0D0

RETURN
¢ 699 STOP
END

701 SUBROUTINE CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)
INCLUDE ’PARAHETER’
INTEGER N,N3
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL*8 TERSOFF_LI

REAL*8 THP

N3 = N *

w

DO 710 I = 1 N3
3 = ( 2) /3
ZAHYO_ORG = ZAHYO(I)

-
+ -

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_LI(ID3,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I) = ZAHYO_ORG - EPS1
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(ID3,ZAHYO,LIST,KYORI, CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )
DIFF1(I) = -THP
710 CONTINUE

RETURN



OO0 BOOOODOODOOO

¢ 799 STOP
END

801 SUBROUTINE RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I,I3
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

REAL#8 SIN
REAL*8 SQRT

I3 = Ix3-2

DO 810 M = 1 , LIST(0,I)
IDXJ = LIST(H,I)
J = LIST(H+HAX_LIST_N,I)
IDXJ = LIST(H,I)

J3 = Jx3-2

THP_R =
# SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
# ( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )

*

KYORI(IDXJ) = THP_R

THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI * ( THP_R - PRM_CR ) / (2.0DO * PRH_CD ) )
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0
ENDIF

CUTOFF(IDXJ) = THP_CUTOFF
810 CONTINUE

RETURN
¢ 899 STOP
END

901 REAL#8 FUNCTION TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 TERSOFF_I
INTEGER L

INTEGER J
TERSOFF_LI = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

DO 910 L = 1 , LIST(0,I)
J = LIST(L + HAX_LIST_N,I)
TERSOFF_LI = TERSOFF_LI +
# TERSOFF_I(J,ZAHYO,LIST,KYORI,CUTOFF)

910 CONTINUE
RETURN

¢ 999 STOP
END

1001 SUBROUTINE HAKE_LIST2(N,LIST,LIST2)
INCLUDE ’PARAHETER’
INTEGER
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
INTEGER LIST2(0:MAX_LIST2_N,HAX_ATOH)

=

INTEGER I,J,K,L,H

DO 1010 I =

1, 0N
LIST2(0,I) = 0
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DO 1005 J = 1 , LIST(0,I)
L = LIST(J+HAX_LIST_N,I)

DO 1003 K = 1 , LIST(O,L)

H = LIST(K+HAX_LIST_N,L)

IF ( H .EQ. I) THEN
GOTO 1003

ENDIF

IF ( H .EQ. L) THEN
GOTO 1003

ENDIF

IF ( LIST2(0,I) .EQ. MAX_LIST2_N ) THEN
WRITE(*,*) *HAX_LIST2_N is overflow’
& ,i,LIST2(0,i) ,HAX_LIST2_N,HAX_ATON
STOP
ENDIF

LIST2(0,I) = LIST2(0,I) + 1
LIST2(LIST2(0,I),I) = H

1003 CONTINUE
1005 CONTINUE
1010 CONTINUE

RETURN
¢ 1099 STOP
END

1101 SUBROUTINE CALC_DIFF2
#(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
INCLUDE ’PARAHETER’

INTEGER N,N3
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
INTEGER LIST2(0:MAX_LIST2_N,HAX_ATOH)

REAL*8 ZAHYO(HMAX_ATOH3)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)

INTEGER I,J,K

INTEGER L

N3 =N %3
C DO 1110 I =1 , HAX_ATOH3
C DIFF2(0,I) = 0
C 1110 CONTINUE

DO 1150 I =1 , N
C oooooooo

CALL CALC_DIFF2_1

# (I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

C ooooooooao

DO 1145 L = 1 , LIST(0,I)
J = LIST(L+HAX_LIST_N,I)

CALL CALC_DIFF2_2
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1145 CONTINUE

C oooooooo

DO 1146 L = 1 , LIST2(0,I)
J = LIST2(L,I)
CALL CALC_DIFF2_3
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1146 CONTINUE

1150 CONTINUE

RETURN
¢ 1199 STOP
END

1201 SUBROUTINE CALC_DIFF2_1
# (I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

INCLUDE ’PARAHETER’
INTEGER I
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)

REAL*8 ZAHYO(HMAX_ATOH3)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
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INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_LI

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL#8 X,Y

REAL*8 THP
REAL*8 DATA

I3 = 1I%3 - 3

J3 =13
DO 1230 II =1 , 3
DO 1220 JJ =1 , 3
I3II = I3 + II

J33J) = J3 + 1J

IF

I3II .NE. J3]J ) THEN

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II) = X + EPS2

ZAHYO(J3JJ) = Y + EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP +
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0D0 * EPS2 x EPS2 )

ZAHYO(I3II)
ZAHYO(J3J)) = Y

[
be

ELSE
X = ZAHYO(I3II)

ZAHYO(I3II) = X + 2.0DO*EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - 2.0DO*EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP +
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -

# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
DATA = THP / ( 3.0D0 * EPS2 x EPS2 )
ZAHYO(I3II) = X

ENDIF

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

1220 CONTINUE
1230 CONTINUE

RETURN
¢ 1299 STOP
END
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1301 SUBROUTINE ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 , D

INCLUDE

INTEGER

’PARAHETER’

I3II , J3JI

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DATA

IF ( DIFF2(0,I3II)

WRITE
STOP
ENDIF

DIFF2(0,

C WRITE(*
RETURN

¢ 1349 STOP
END

.EQ. HAX_DIFF2_LIST ) THEN

(*,%) ’HAX_DIFF2_LIST is overflow.’

I3II) = DIFF2(0,I3II) + 1
DIFF2(DIFF2(0,I3II),I3II) = J3JJ
DIFF2_DATA(DIFF2(0,I3II),I3II) = DATA
,¥) I3I1 , J3JJ, DATA

1351 SUBROUTINE ADD2_DIFF2( DATA , I3II , J3JJ , DIFF2

INCLUDE

INTEGER

’PARAHETER’

I3II , J3JI

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DATA

INTEGER

DO 1360

IF ( DIFF2(I,I3II)

I

I =1 , DIFF2(0,I3II)

.EQ. J3JJ ) THEN

DIFF2_DATA(I,I3II) = DIFF2_DATA(I,I3II) + DATA

GO
ENDIF
1360 CONTINUE

WRITE(x,
STOP
C WRITE(*,

1380 RETURN
¢ 1399 STOP
END

TO 1380

*) ’error ADD2_DIFF2’

*) I3II , J3]J, DATA

1401 SUBROUTINE CALC_DIFF2_2
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE
INTEGER
INTEGER
INTEGER

REAL*8
REAL*8
REAL*8

INTEGER
REAL*8
REAL*8
REAL*8

INTEGER
INTEGER
INTEGER
REAL*8 X

REAL*8 T
REAL*8 D

’PARAHETER’
IJ

LIST(O:HAX_LIST_N2,HAX_ATOHN)
LIST_IJ(O:HAX_LIST_IJ)

ZAHYO(HAX_ATOH3)
KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

DIFF2(0:HAX_DIFF2_LIST,HAX_ATOH3)
DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

TERSOFF_I
TERSOFF_LIJ

I3, 33
11,33
I3I1,J3J)
Y

Hp
ATA

CALL MAKE_LIST_IJ( I,J,LIST_IJ,LIST )

I3 = Ix3
J3 = Jx3
DO 1430

DO 14

I3

J3

-3
-3

II =

20 JJ =1,
II = I3 + II
J3 =33+ 1)

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II)
ZAHYO(J31])

X + EPS2
Y + EPS2

IFF2_DATA )

DIFF2_DATA )

57
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CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# +TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0D0 * EPS2 x EPS2 )

ZAHYO(I3II) = X
ZAHYO(J3J)) = Y

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

1420 CONTINUE
1430 CONTINUE

RETURN
¢ 1499 STOP
END

1501 SUBROUTINE MAKE_LIST_IJ( I,J,LIST_IJ,LIST )
INCLUDE ’PARAHETER’

INTEGER I,J
INTEGER LIST_IJ(O:HAX_LIST_IJ)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)

INTEGER L,H
LIST_IJ(0) = 0

DO 1540 L =1 , LIST(0,I)
DO 1530 H = 1 , LIST(0,])
IF ( LIST(L+HMAX_LIST_N,I)
# \NE. LIST(H+MAX_LIST_N,J)) THEN
GOTO 1530
ENDIF

IF ( LIST_IJ(O) .EQ. MAX_LIST_IJ ) THEN
WRITE(*,*) *HAX_LIST_IJ is overflow.’
ENDIF

LIST_IJ(0) = LIST_IJ(O) + 1
LIST_IJ(LIST_IJ(0)) = LIST(L+HAX_LIST_N,I)

1530 CONTINUE
1540 CONTINUE

RETURN
¢ 1599 STOP
END

1601 REAL*8 FUNCTION TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER LIST_IJ(O:HAX_LIST_IJ)
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
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REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 TERSOFF_I

INTEGER I,L

TERSOFF_LIJ = 0.0DO

DO 1610 L = 1 , LIST_IJ(0)
I = LIST_IJ(L)

TERSOFF_LIJ = TERSOFF_LIJ +
# TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

1610 CONTINUE
RETURN

¢ 1699 STOP
END

1701 SUBROUTINE CALC_DIFF2_3
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE ’PARAHETER’

INTEGER I,J

INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
INTEGER LIST_IJ(O:HAX_LIST_IJ)

REAL*8 ZAHYO(HMAX_ATOH3)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_LIJ

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL#8 X,Y

REAL*8 THP
REAL*8 DATA

CALL MAKE_LIST_IJ( I,J,LIST_IJ,LIST )

I3 = I%3 - 3
J3 = Jx3 -

w

D

=}

1730 II
DO 1720
I3II I3 + II
J33J) = J3 + 1J

e
<
1
-
w

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )
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1720
1730

ZAHYO(I3II) = X
ZAHYO(J3J)) =Y

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

CONTINUE

CONTINUE

RETURN

¢ 1799 STOP

END

1801 SUBROUTINE CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)
’PARAHETER’

INTEGER N
REAL*8 ZAHYO(HAX_ATOH3)

REAL*8 DIFF1 (HAX_ATOH3)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)

1810

1815
1820

1830

1840

INCLUDE

INTEGER N3

REAL*8 P(HAX_ATOH3)
REAL*8 R(HAX_ATOH3)
REAL*8 AP(HAX_ATOHN3)
REAL*8 X (HAX_ATOH3)

REAL*8 NORH_R2,NORH_R2_

REAL*8 PAP

REAL*8 4

REAL*8 C

INTEGER I,J,K

INTEGER

N3 = N*3
NORH_R2

DO 1810
oD
R(D)
P(D)
NORH_.

CONTINUE

L

I

[

.0

1
.0

DO

, N3
DO

DIFF1(I)
DIFF1(I)
R2 = NORH_R2 + R(I) x R(I)

WRITE(*,*) O,NORH_R2

DO 1860

K

1

, N3

IF ( NORM_R2 .LT. 1.0D-6 ) THEN
GOTO 1865

ENDIF

DO 1820 I
AP(I)
DO 1815 L = 1 , DIFF2(0,I)

J

=1, N3
0.0D0

DIFF2(L,I)

AP(I) = AP(I) + P(J) x DIFF2_DATA(L,I)

CONTINUE
CONTINUE

PAP =

Pa

P

0.0D0
DO 1830 I

CONTINUE

P

=1, N3
AP + P(I) x AP(I)

A& = NORH_R2 / PAP
WRITE(*,*) ’4=’,4

NORH_R2_

DO 1840
oD
R(D)
NORH_.

CONTINUE

I

R2_

0.0D0

=1, N3

X(I) + &4 x P(I)

R(I) - &4 x AP(I)

= NORH_R2_ + R(I) % R(I)

WRITE(#,%) K,NORH_R2_

C = NORH_R2_ / NORH_R2
IF ( C .GT. 1.0D0 ) THEN
GOTO 1865

ENDIF

60
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NORH_R2 = NORH_R2_
DO 1850 I =1 , N3
P(I) = R(I) + C x P(I)
1850 CONTINUE

61

1860 CONTINUE

1865 DO 1870 I =
ZAHYO(I)
1870 CONTINUE

1, N3
= ZAHYO(I) + X(I)

RETURN
¢ 1899 STOP
END

1901 SUBROUTINE MAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,IDX
#,LIST,LIST2,AN)
INCLUDE ’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HMAX_ATOH3)

CHARACTER*8 AN(MAX_ATOH)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER IDX

INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
INTEGER LIST2(0:MAX_LIST2_N,HAX_ATOH)

INTEGER I,K,J
INTEGER E,F,G
INTEGER L

INTEGER I3

INTEGER TX,TY,TZ
INTEGER TI,TJ,TI3,TJ3

REAL*8 THP_R,THP_CUTOFF

C REAL#8 SIN
C INTEGER IDX
N3 =N %3
C ooooooooao

DO 1905 I =1 , HAX_ATOH
LIST_YDW(0,I) = 0
1905 CONTINUE

C 00000000 -00000000

C 00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
C 0000O00o0O0000OOO0O0O0O00OO0O0O0
C 000000 HESH O DOOO0O00OOOO0

DO 1926 TI = 1 , N
DO 1924 TJ =1 , N
IF ( TI .LE. TJ ) THEN
GOTO 1924
ENDIF

TI3 = TI*3-2
TI3 = TJ*3-2

C
C oooooooo
C
THP_R =
# ( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*%2 +
# ( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +
# ( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0
C
C oooooooooa
IF ( THP_R .GT. (PRH_VCR2 + PRHM_VCD2) ) THEN
GOTO 1924
ENDIF
C 0oooooo oo

IF ( AN(TI) .EQ. AN(TJ) ) THEN
GOTO 1924
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ENDIF
C WRITE(#,%) AN(TI) , AN(TJ)
C LIST 000000000 sToP

IF ( ( LIST_VDW(O,TI) .EQ. HAX_LIST_VN ) .OR.

# ( LIST_VDW(0,TJ) .EQ. HAX_LIST_VN ) ) THEN
WRITE(*,%) *LIST_VN is overflow: HMAX_LIST_VN.’
STOP

ENDIF

IDX = IDX + 1
KYORI(IDX) = THP_R

LIST_YDW(O,TI) = LIST_VYDW(O,TI) + 1
LIST_YDW( LIST_VDW(O,TI) ,TI ) = IDX
LIST_YDW( LIST_VDW(O,TI) + MAX_LIST_VN ,TI ) = TJ

LIST_YDW(0,TJ) = LIST_VYDW(O,TJ) + 1
LIST_YDW( LIST_VDW(0,TJ) ,TJ ) = IDX

LIST_YDW( LIST_VDW(O,TJ) + MAX_LIST_VN ,TJ ) = TI
C
C oooooooooa
C

THP_CUTOFF = 0.0D0O
IF ( THP_R .GE. ( PRH_VCR - PRH_VCD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 + SINC PI * ( THP_R - PRH_VCR ) / (2.0DO % PRM_VCD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# (1.0D0 - SINC PI * (THP_R - PRH_VCR2 )/(2.0DO * PRH_VCD2 ) )
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0O
ENDIF

CUTOFF (IDX) = THP_CUTOFF

1924 CONTINUE
1925 CONTINUE

DO 19562 I =1 , N
write (¥,%) '--",1I
DO 1951 J = 1 , LIST_VDW(O,I)
WRITE(*,*) LIST_VDW(J + MAX_LIST_VN , I)
C 1951 CONTINUE
C 1952 CONTINUE

1969 RETURN
¢ 1999 STOP

END
C
¢ 00 I 0000 Van Der Waals 00O DOOO
C

2001 REAL*8 FUNCTION VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HMAX_ATOH3)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 R,U
REAL#*8 VDW_FUNC

INTEGER L,IDXJ
U = 0.0D0
DO 2010 L =1 , LIST_VDW(O,I)
IDXJ = LIST_VDW(L,I)
R = KYORI(IDXJ)
U = U + CUTOFF(IDXJ) % VDW_FUNC(R)
2010 CONTINUE

VDH_I = U
C write(*,x) “¥yDW"' , U , R

RETURN
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¢ 2049 STOP
END

2050 REAL*8 FUNCTION VDW_FUNC(R)
INCLUDE ’PARAHETER’
REAL#*8 R,SR
REAL*8 THP_CUTOFF
REAL#8 SIN

SR = 3.407D0 / R

THP_CUTOFF = 0.0D0O
IF ( R .GE. ( PRH_VCR - PRH_VCD) ) THEN

THP_CUTOFF = 0.5D0 *
# (1.0D0 + SINC PI * ( R - PRH_VCR ) / (2.0DO * PRH_VCD ) )
ENDIF
IF ( R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI * ( R - PRH_VCR2 ) / (2.0D0 * PRH_VCD2 ) )
ENDIF
IF ( R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0O

ENDIF
YDH_FUNC =
# 4.0D0 * 0.002964D0 *
# ( SR¥¥12.0D0 - SR¥*6.0D0 )
# * THP_CUTOFF
RETURN
¢ 2099 STOP
END

2101 SUBROUTINE CALC_DIFF1_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF1)
INCLUDE ’PARAHETER’
INTEGER N,N3
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL#*8 VDW_I

REAL*8 THP

N3 =N %3

DO 2110 I =1 , N3

I3 =(I1+2)/3
ZAHYO_ORG = ZAHYO(I)

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = YDW_I(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG - EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = THP -

# VDW_I(ID3,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )

C WRITE(*,*) , I , THP
DIFF1(I) = DIFF1(I) - THP
C DIFF1(I) = - THP

2110 CONTINUE

RETURN
¢ 2199 STOP
END
2201 SUBROUTINE RECALC_VDW(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I,I3
REAL*8 ZAHYO(HMAX_ATOH3)
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INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

C REAL#8 SIN
REAL*8 SQRT

I3 = Ix3-2

DO 2210 H = 1 , LIST_VDW(O,I)
IDXJ = LIST_VDW(H,I)
J = LIST_VDW(H+HAX_LIST_VN,I)

J3 = Jx3-2

THP_R =
# SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
# ( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )

*

KYORI(IDXJ) = THP_R

THP_CUTOFF = 1.0D0

IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN

THP_CUTOFF = 0.5D0 *

# ( 1.0D0 - SINC PI * ( THP_R - PRM_CR ) / (2.0DO % PRM_CD ) ))

ENDIF

IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN

THP_CUTOFF = 0.0DO
ENDIF

aacacaacaaa

CUTOFF(IDXJ) = THP_CUTOFF
2210 CONTINUE

RETURN
¢ 2299 STOP
END
2301 REAL*8 FUNCTION VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER I
INTEGER N
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 VDW_I

VDW = 0.0DO

DO 2310 I =1 , N
VDW = VDW +
# VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)

2310 CONTINUE
VDW = YDW / 2.0D0

RETURN
¢ 2399 STOP
END

2401 SUBROUTINE CALC_DIFF2_VDW
#(N,ZAHYO,LIST_VDW,KYORI ,CUTOFF,DIFF2,DIFF2_DATA)
INCLUDE ’PARAHETER’

INTEGER N,N3
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8 ZAHYO(HMAX_ATOH3)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)

INTEGER I,J,K
INTEGER L

DO 2410 I =1 , HAX_ATOH3
DIFF2(0,I) = 0
2410 CONTINUE

aaa

64
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DO 2450 I =1 , N

C 1000000on
DO 2445 L = 1 , LIST_VDW(O,I)
J = LIST_VDW(L+HAX_LIST_VN,I)

CALL CALC_DIFF2_VDW_1
# (I,J,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
2445 CONTINUE

2450 CONTINUE

RETURN
¢ 2499 STOP
END

2501 SUBROUTINE CALC_DIFF2_VDW_1
# (I,J,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE ’PARAHETER’
INTEGER I,J
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8 ZAHYO(HMAX_ATOH3)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(0:MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(HAX_DIFF2_LIST,HAX_ATOH3)

REAL*8 VDW_FUNC

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL#8 X,Y

REAL*8 THP
REAL*8 DATA

REAL*8 R,DIST

REAL*8 GI(3)
REAL*8 GJ(3)

I3 = 1I%3 - 3
J3 = Jx3 - 3

GI(1) = ZAHYO(I3 + 1)
GI(2) = ZAHYO(I3 + 2)
GI(3) = ZAHYO(I3 + 3)

GJ(1) = ZAHYO(J3 + 1)
GJ(2) = ZAHYO(J3 + 2)
GJ(3) = ZAHYO(J3 + 3)

DIST = CALC_R(GI,GJ)
DO 2530 IT =1 , 3
DO 2520 JJ =1, 3

X = GI(ID)
Y =G6JUID)
GI(II) = X + EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)
THP = VDW_FUNC(R)
GI(II) = X - EPS2

GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)

THP = THP + VDW_FUNC(R)

GI(II) = X + EPS2
GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)

THP = THP - VDW_FUNC(R)

GI(II) = X - EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)
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THP = THP - VDW_FUNC(R)

DATA = THP / ( 8.0D0 * EPS2 x EPS2 )

IF ( DIST .LT. (PRH_CR+PRH_CD) ) THEN
CALL ADD2_DIFF2( DATA , I3+II , J3+JJ , DIFF2 ,DIFF2_DATA)

ELSE
CALL ADD_DIFF2( DATA , I3+II , J3+JJ , DIFF2 ,DIFF2_DATA)
ENDIF

GI(II) = X

GJ(JI) =Y

2520 CONTINUE
2530 CONTINUE

RETURN

¢ 2599 STOP
END

2601 REAL*8 FUNCTION CALC_R(GI,GJ)
REAL*8 GI(3)

REAL*8 GJ(3)
REAL*8 SQRT

CALC_R = SQRT(

# (GI(1) - GI(1))*x2+
# (GI(2) - GI(2))*x2+
# (GI(3) - GI(3))*x2 )
RETURN
¢ 2699 STOP
END

2701 SUBROUTINE HAKE_NEWKYORI(N,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER N,I
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST(O:MAX_LIST_N2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

DO 2710 I =1 , N
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
2710 CONTINUE

RETURN
¢ 2799 STOP
END

2801 SUBROUTINE HAKE_NEWKYORIV(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE ’PARAHETER’
INTEGER N,I
REAL*8 ZAHYO(HMAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI (HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

DO 2810 I =1 , N
CALL RECALC_VDW(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
2810 CONTINUE

RETURN
¢ 2899 STOP
END
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B.3 00000000ODOODOOODOOOOO

gddboootoot ooootououooooooooooooooooood
goooooo
fortran 00000000 function O subroutine 00000000
goouoououououoouoooo

c goooooboobobobbobooooa

INTEGER MAX_ATOM
PARAMETER (MAX_ATOM = 5000)

000000000D0000D0O0010015A00000000000000

c list JUoogd ooooooobon
INTEGER MAX_MESH_X

PARAMETER (MAX_MESH_X = 25)
INTEGER MAX_MESH_Y
PARAMETER (MAX_MESH_Y = 25)
INTEGER MAX_MESH_Z
PARAMETER (MAX_MESH_Z = 50)

goggoooooooooobbbbbbbbboboooooooooouoooooo
godoooouoooobobbbbbbboooooooo
OO0000o0ob0ob0o0obo0obOobD woooboobooboooboon

C 000 O STRICT
C IHPLICIT LOGICAL ( A-Z )
IHPLICIT REAL*8 ( A4-Z )

< Tesoff 0ODOOOOD
c ooooo (oooo)

REAL*8 PRH_EA
REAL*8 PRH_EB

REAL*8 PRH_LUHBDA1
REAL*8 PRH_LUHBDA2
REAL*8 PRH_LUHMBDA3

REAL*8 PRH_ALPHA
REAL*8 PRH_DELTA
REAL*8 PRH_ETA

REAL*8 PRH_A
REAL*8 PRH_C
REAL*8 PRH_D
REAL*8 PRH_H

REAL*8 PRH_CR
REAL*8 PRH_CD



OO0 BOOOODOODOOO

PARAMETER (PRH_EA = 1393.6D0)

PARAMETER (PRH_EB = -346.74D0)
C normal
C PARAMETER (PRH_LUHBDA1 = 3.4879D0)
C PARAMETER (PRH_LUHBDA2 = 2.2119D0)

C Graphite saigen

PARAMETER (PRH_LUHBDA1 = 3.6012997D0)
PARAMETER (PRH_LUHBDA2 = 2.28381399D0)
C C60 saigen
C PARAMETER (PRH_LUHBDA1 = 3.6219D0)
C PARAMETER (PRH_LUHBDA2 = 2.2969D0)

PARAMETER (PRH_LUHBDA3 = 0.0DO)

PARAHETER (PRH_ALPHA = 0.0DO)
PARAHETER (PRH_DELTA = 0.687276D0)

PARAMETER (PRH_ETA = 0.72752D0)
PARAMETER (PRH_A = 1.5724D-T7)
PARAMETER (PRH_C = 38049.0D0)
PARAHETER (PRH_D = 4.3484)

C PARAMETER (PRH_D = 4.384)
PARAMETER (PRH_H = -0.57058)

PARAHETER (PRH_CR = 1.95D0)
PARAHETER (PRH_CD = 0.15D0)

4 oodm
REAL*8 PI
PARAHETER (PI = 3.14159265358979323846D0)

< 00O00O00o0O0O0O0O0OO0OO0OOooO0

INTEGER HAX_ATOH
PARAHETER (HAX_ATOH = 5000)

< ooboooooooooo

INTEGER HAX_ATOH3
PARAMETER (HAX_ATOH3 = HAX_ATOH x 3)

c list 000000 DOO0ODOOOO0
INTEGER HAX_MESH_X
PARAMETER (HAX_HESH_X = 25)
INTEGER HAX_MESH_Y
PARAMETER (HAX_HESH_Y = 25)
INTEGER HAX_MESH_Z
PARAMETER (HAX_HESH_Z = 50)

c ooboooooooooo
INTEGER HAX_HESH_ATOHN
PARAMETER (HAX_MESH_ATOHM = 50)

c 000 1list00000
INTEGER HAX_LIST_N
PARAMETER (HAX_LIST_N = 20)

c 000 1ist00000 00O
INTEGER HAX_LIST_N2
PARAMETER (MAX_LIST_N2 = HAX_LIST_N * 2)

c 000 1ist200000
INTEGER HAX_LIST2_N
C PARAMETER (MAX_LIST2_N = 40)

PARAHETER (HAX_LIST2_N = 20)

INTEGER HAX_DIFF2_LIST
C PARAHETER (MAX_DIFF2_LIST = 400)
PARAMETER (HAX_DIFF2_LIST = 1)

INTEGER HAX_LIST_IJ
PARAMETER (HAX_LIST_IJ = 10)

c 00 0oooo0OO0O0O0o0oOoOoOoooo
INTEGER HAX_DATA_IDX
PARAHETER (HAX_DATA_IDX = 500000)

c oooooo
INTEGER HESH_D
PARAMETER ( HESH_D = ( PRH_CR + PRH_CD ) % 1.01D0 )
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C 2.

PARAHETER (EPS1 = 0.000001D0)
REAL*8 EPS2
PARAHETER (EPS2 = 0.00001D0)

REAL*8 TIHE_DIV
PARAMETER (TINE_DIV = 2.5D-15)

REAL*8 Na
PARAHETER (Na = 6.022045D+23)

REAL*8 HassC
PARAHETER (HassC = 12.0D0 * 1.6605655D-27)

REAL*8 CONV_VELO
PARAHETER (CONV_VELO =
# 1.6021892D-19/HassC*TIHE_DIV+TIHE_DIV*1.0D+20)

REAL*8 PRH_VCR
REAL*8 PRH_VCD

PARAHETER (PRH_VCR = 2.1D0)
PARAHETER (PRH_VCD = 0.1D0)

REAL*8 PRH_VCR2
REAL*8 PRH_VCD2

PARAMETER (PRH_VCR2 = 17.5D0)
PARAMETER (PRH_VCD2 = 1.0D0)

REAL*8 HESH_D_VDW
PARAMETER ( HESH_D_VDW = ( PRH_VCR2 + PRH_VCD2 ) * 1.01D0 )

vdw 0 list 000000 DOOOODOO
INTEGER HAX_HESH_V_X

PARAHETER (HAX_MESH_V_X = 7)

INTEGER HAX_HESH_V_Y

PARAHETER (HAX_MESH_V_Y = 7)

INTEGER HAX_HESH_V_Z

PARAMETER (HAX_MESH_V_Z = 20)

vdaw 000000D0O000OOO
INTEGER HAX_HMESH_V_ATOHN
PARAMETER (HAX_HESH_V_ATOH = 2100)

000 1list00000
INTEGER HAX_LIST_VN
PARAMETER (HAX_LIST_VN = 2100)

000 1ist00000 00O
INTEGER HAX_LIST_VN2
PARAMETER (HMAX_LIST_VN2 = HAX_LIST_VN * 2)
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